
MATHS

BOOKS - S CHAND MATHS (ENGLISH)

MODEL TEST PAPER-6

Section A

1. The number of subsets of a set containing n elements is :

A. n

B. 

C. 

D. 

2n − 1

2n − 1

2n

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ChDt2JhTXaTT


Answer: D

Watch Video Solution

2. If f  is defined as  is equal to .

A. 3

B. 

C. 

D. 

Answer: C

Watch Video Solution

Q → Q f(x) = x2, f − 1(9)

−3

{ − 3, 3}

ϕ

3.  =cosec10∘ − √3  sec10∘

https://dl.doubtnut.com/l/_ChDt2JhTXaTT
https://dl.doubtnut.com/l/_0WB02zlGKcb3
https://dl.doubtnut.com/l/_qQgPAmXAPKtc


A. 4

B. 2

C. 0

D. 

Answer: A

Watch Video Solution

−4

4. If x is a real number and  , then

A. 

B. 

C. 

D. 

|x| < 5

x ≤ 5

−5 < x < 5

x ≤ − 5

−5 ≤ x ≤ 5

https://dl.doubtnut.com/l/_qQgPAmXAPKtc
https://dl.doubtnut.com/l/_7FGq6PgfydVu


Answer: B

Watch Video Solution

5. The number of a arrangement of the letter of the word BHARAT

taking 3 at a time is

A. 72

B. 120

C. 14

D. none of these 0

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7FGq6PgfydVu
https://dl.doubtnut.com/l/_Fea0pzGPgNqH


6. If x is real , then the minimum value of  is :

A. 7

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 3x + 4

x2 + 3x + 4

−
1

7

−7

1

7

7. The tw geometric means between the numbers 1 and 64 are

A. 1 and 64

B. 4 and 16

C. 2 and 16

https://dl.doubtnut.com/l/_Us6pPldhKgdd
https://dl.doubtnut.com/l/_T26sTKhAukwg


D. 8 and 16

Answer: B

Watch Video Solution

8. A line passes through the point (2,2) and is perpendicular to the

line  Its y - Intercept is

A. 

B. 

C. 1

D. 

Answer: D

Watch Video Solution

3x + y

1

3

2

3

4
3

https://dl.doubtnut.com/l/_T26sTKhAukwg
https://dl.doubtnut.com/l/_vjXNpDjjncVY


9. If the circles 

touch externally then a =

A. 1

B. 2

C. 3

D. 6

Answer: A

Watch Video Solution

x2 + y2 = a and x2 + y2 − 6x − 8y + 9 = 0

10. If A,B,C are three mutually exclusive and exhaustive events of an

experiment such 3P(A) = 2I = P(C ) , the P(A) is equal to .

A. 
1

11

https://dl.doubtnut.com/l/_obrKQf3qoY0Q
https://dl.doubtnut.com/l/_U2fUNZDQ1fW5


B. 

C. 

D. 

Answer: B

Watch Video Solution

2

11

5

11

6

11

11. If the perimeter of a certain sector of a circle is equal to the

length of the arc of the semicircle having the same radius , find the

angle of the sector in degrees .

Watch Video Solution

12. There are 12 points in a plane of which 5 are collinear . Find the

number of straight lines obtained by joining these points in pairs .

https://dl.doubtnut.com/l/_U2fUNZDQ1fW5
https://dl.doubtnut.com/l/_UIrzoOBLwm50
https://dl.doubtnut.com/l/_Xm0PugJDa0Nr


Watch Video Solution

13. Find the least positive value of n it 

Watch Video Solution

( )
n

= 1
1 + i

1 − i

14. If f(x) =  prove that 

Watch Video Solution

αxn α =
f' (1)

n

15. If f(x) =  prove that 

Watch Video Solution

αxn α =
f' (1)

n

16. Prove that , U = Where U is the universal set .

W h Vid S l i

(U − A) + A,

https://dl.doubtnut.com/l/_Xm0PugJDa0Nr
https://dl.doubtnut.com/l/_de2jzuXqaX2r
https://dl.doubtnut.com/l/_GoMXoEtaM66I
https://dl.doubtnut.com/l/_7zxKEJluX8nv
https://dl.doubtnut.com/l/_v6tcSWQkQCWW


Watch Video Solution

17. Z is the set of integers. Describe the following relation in set

builder form, given its domain and range. 

Watch Video Solution

{(0, − 7), (2, − 5), (4, − 3), ( − 13, − 20), ....... }

18. The angles of a triangle ABC are in A.P and b:c =  find 

Watch Video Solution

√3: √2

∠A

19. Find the value of

.

θ,  if m2 sin. − n2 sin. + 2mn sec θ = (m − n)2, 0 ≤ θ ≤ π
Π
2

3π

2

https://dl.doubtnut.com/l/_v6tcSWQkQCWW
https://dl.doubtnut.com/l/_mfkRYb7HQvIz
https://dl.doubtnut.com/l/_Y4WAg7N4nhdy
https://dl.doubtnut.com/l/_MFbhppjCkL1Y


Watch Video Solution

20. In any , prove that 


Watch Video Solution

ΔABC

a cos(A + B + C) − b cos(B + A) − c cos(A + C) = 0

21. Find the values of  if both the roots of the equation 

 are infinite.

Watch Video Solution

λ and μ

(3λ + 1)x2 = (2λ + 3μ)x − 3

22. Prove the following 

Watch Video Solution

+ = − 1
a + bω + cω2

c + aω + bω2

a + bω + cω2

b + cω + aω2

https://dl.doubtnut.com/l/_MFbhppjCkL1Y
https://dl.doubtnut.com/l/_P1VkhnfuMiiJ
https://dl.doubtnut.com/l/_tcm5uxlldSsa
https://dl.doubtnut.com/l/_D4RaASRbz5DN
https://dl.doubtnut.com/l/_F2cM4ogvvC1I


23. Define modulus function . Write its domain and range . Draw

the graph of it .

Watch Video Solution

24. Solve 

Watch Video Solution

2 cos2 θ = 3 sin θ

25. 

Watch Video Solution

tan 6∘ tan 42∘ tan 66∘ tan 78∘ = 1

26. Using mathematical induction , to prove that 

 is divisible by 25 , for al 

Watch Video Solution

72n + 23n − 3. 3n − 1 n ∈ N

https://dl.doubtnut.com/l/_F2cM4ogvvC1I
https://dl.doubtnut.com/l/_fftAUZO4wfGc
https://dl.doubtnut.com/l/_JFJujhf2eq8b
https://dl.doubtnut.com/l/_g5vFjMbgsO83


Watch Video Solution

27. Differentiate w.r.t 

Watch Video Solution

' x' f(x) =
√x2 + 1 + √x2 − 1

√x2 + 1 − √x2 − 1

28. Evaluate : 

Watch Video Solution

lim
x → ∞

√x2 + x + 1 − √x2 + 1

29. Find the equations of the bisectors of the angles between the

lines  .Prove that

bisectors are at right angles to each other .

Watch Video Solution

12x + 5y − 4 = 0 and 3x + 4y + 7 = 0

https://dl.doubtnut.com/l/_g5vFjMbgsO83
https://dl.doubtnut.com/l/_IFqDqSHFAubX
https://dl.doubtnut.com/l/_KL3LvxCWPNMC
https://dl.doubtnut.com/l/_IvSoNXOjfwHx


30. Find the equations of the tangents to the circle 

which are parallel to the line 

Watch Video Solution

x2 + y2 = 25

2x − u + 4 = 0

31. If the coefficient of 2nd, 3rd and 4th
terms in the expansion of


are in A.P. , show that 

Watch Video Solution

(1 + x)2n 2n2 − 9n + 7 = 0.

32. The sum of four numbers in G.P is 60 and the arithmetic mean

of the first and the last numbers is 18 . Find the numbers .

Watch Video Solution

https://dl.doubtnut.com/l/_3Hbe42qy3IOi
https://dl.doubtnut.com/l/_tR1bsc85b8W4
https://dl.doubtnut.com/l/_ga8A5hRod12A


Section B

33. An original frequency table with mean  and variance 

was lost but the following table derived from it was found .

Construct the original table . 

Watch Video Solution

10.5 9.9

34. An original frequency table with mean  and variance 

was lost but the following table derived from it was found .

Construct the original table . 

Watch Video Solution

10.5 9.9

https://dl.doubtnut.com/l/_bbZ8y4TPyMp1
https://dl.doubtnut.com/l/_gQsCKf1QC0H5


1. Find the equation of the dirctly of the parabola whose focus and

vertex are (5,3) and (3,1) respectively .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + y + 1 = 0

x − y = 0

x + y = 0

x − y − 1 = 0

2. Find the equation of the locus of a point whose distance from

the y-axis is equal to its distance from 

A. 

(2, 1, − 1).

√2

https://dl.doubtnut.com/l/_mtpJICzVnCj3
https://dl.doubtnut.com/l/_mrDBHYwdw91F


B. 

C. 

D. 

Answer: B

Watch Video Solution

√
3

2

√3

2

2

√3

3. Find the equation of the locus of a point whose distance from

the y-axis is equal to its distance from 

Watch Video Solution

(2, 1, − 1).

4. Find the valule (s) of k so that the line  may

touch the hyperbola 

Watch Video Solution

2x + y + k = 0

3x2 − y2 = 3

https://dl.doubtnut.com/l/_mrDBHYwdw91F
https://dl.doubtnut.com/l/_9RMhhlTdqCxs
https://dl.doubtnut.com/l/_K0B5zuAusEtA


5. Write the inverse of the given conditiona statement : 

If a number n is even , then  is even .

Watch Video Solution

n2

6. Construct truth table for 

Watch Video Solution

(p ⇒ q) ∧ (q ⇒ p)

7. Negation of disjunction of p and q is equivalent to the negation

of both p and q . Verify

Watch Video Solution

https://dl.doubtnut.com/l/_K0B5zuAusEtA
https://dl.doubtnut.com/l/_n3s55uEgnPII
https://dl.doubtnut.com/l/_cSHRCaZYBfS6
https://dl.doubtnut.com/l/_bCAZJlZnNPy0


8. Find the equation of parabola with its axis parallel to x - axis and

passing through the points  .

Watch Video Solution

( − 2, 1), (1, 2) and ( − 1, 3)

9. Find the centre foci and the equation of the directrices of the

ellipse 

Watch Video Solution

8x2 + 9y2 − 16x + 18y − 55 = 0

10. Find the ratio in which the line segment , joining the points

 is divided by yz plane . Also find

the point of contact .

Watch Video Solution

P (2, 3, 4) and Q( − 3, 5, − 4)

https://dl.doubtnut.com/l/_jHW9LnlBCgSM
https://dl.doubtnut.com/l/_G5U0hqxp8mcX
https://dl.doubtnut.com/l/_AdnadYciWgWM


Section C

1. Index number calculated for the year 2019 using 2015 as the base

year is  .If commodity is sold for Rs  in 2015 , then the

selling price in 2019 is

A. Rs 

B. Rs 

C. Rs

D. Rs 

Answer: B

Watch Video Solution

114.9 5.75

7.57

6.61

6.16

66.1

2. Q2 is always equal to

https://dl.doubtnut.com/l/_o7vVdY7OhBBC
https://dl.doubtnut.com/l/_GpiSpMxTdTk7


A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

P1

P10

P25

P50

3. Find the mode of the following data 

17, 32,35,33,15,21,41,32,11,18,20,22,11,15,35,23,38,12

Watch Video Solution

4. Find  of the distribution 

Watch Video Solution

P70 xi : 28, 17, 25, 26, 19, 13, 27, 21, 16

https://dl.doubtnut.com/l/_GpiSpMxTdTk7
https://dl.doubtnut.com/l/_DACsco4FPyF1
https://dl.doubtnut.com/l/_MPzTVKzYukbg


5. Index number for the total cost of raw materials used for the

manufacturing of te commodity in 2015, using 2001 as the base

year calculated as  . If the commodity was sold for Rs

 in 2010 , calculate the selling price in 2015 on assumption

that selling prices are directly proportional to the cost or raw

materials .

Watch Video Solution

179.94

1055.75

6. Calculate Mode for the following data 

Watch Video Solution

https://dl.doubtnut.com/l/_MPzTVKzYukbg
https://dl.doubtnut.com/l/_Oqt0gcpZTlkY
https://dl.doubtnut.com/l/_QZ6ZT5G5kMgK


7. An analysis of daily wages of casual laboures in two firms A and

B belonging to the same industry gives the following result : 

 

If the combined mean is Rs  find the standard deviation of

wages of all casual labourers in the two firms taken in together .

Watch Video Solution

116.82

8. Calculate Karl Pearson's coefficient of correlation between the

heights of husbands and wives based on the following data ( given

in inches ) and interpret the result . Take assumed means of

husbands and wives are 70 and 66 respectively . 

https://dl.doubtnut.com/l/_bCV0ksg5n93D
https://dl.doubtnut.com/l/_RYfzQe1peF8w


Watch Video Solution

9.  

Find Spearman's rank correlation coefficient .

Watch Video Solution

10. The table given below shows the number of visitors ( in

hundreds ) to a certain exhibition over a period of two weeks : 

 

Calculate the 7 day moving averages and illustrate these and the

original information on the same table.

View Text Solution

https://dl.doubtnut.com/l/_RYfzQe1peF8w
https://dl.doubtnut.com/l/_mGoY7AIcc83L
https://dl.doubtnut.com/l/_r5Fjzmnm4bjy

